



(2)  $u'(t) = \cos \frac{L}{t} - t \sin \frac{L}{t} \cdot L \left(-\frac{1}{t^2}\right) = \cos \frac{L}{t} + \frac{L}{t} \sin \frac{L}{t}$   $v'(t) = \sin \frac{L}{t} + t \cos \frac{L}{t} \cdot L \left(-\frac{1}{t^2}\right) = \sin \frac{L}{t} - \frac{L}{t} \cos \frac{L}{t}$

$\{u'(t)\}^2 + \{v'(t)\}^2 = \cos^2 \frac{L}{t} + 2 \frac{L}{t} \sin \frac{L}{t} \cos \frac{L}{t} + \frac{L^2}{t^2} \sin^2 \frac{L}{t} + \sin^2 \frac{L}{t} - 2 \frac{L}{t} \sin \frac{L}{t} \cos \frac{L}{t} + \frac{L^2}{t^2} \cos^2 \frac{L}{t} = 1 + \frac{L^2}{t^2}$

$f(a) = \int_a^1 \sqrt{1 + \frac{L^2}{t^2}} dt = \int_a^1 \frac{\sqrt{t^2 + L^2}}{t} dt = \int_{\sqrt{a^2 + L^2}}^1 \frac{x}{\sqrt{a^2 + L^2} \sqrt{x^2 - L^2} \sqrt{x^2 - L^2}} dx = \int_{\sqrt{a^2 + L^2}}^1 \frac{x^2 - L^2 + L^2}{x^2 - L^2} dx = \int_{\sqrt{a^2 + L^2}}^1 \left(1 + \frac{L^2}{x^2 - L^2}\right) dx$

$\sqrt{t^2 + L^2} = x \quad t < a < t \quad \begin{array}{l} t \mid a \rightarrow 1 \\ x \mid \sqrt{a^2 + L^2} \rightarrow \sqrt{1 + L^2} \end{array} \quad \frac{dx}{dt} = \frac{1}{t} \frac{2t}{\sqrt{t^2 + L^2}}$

$= \int_{\sqrt{a^2 + L^2}}^1 \left(1 + \frac{L^2}{x^2 - L^2} - \frac{L^2}{x^2 - L^2}\right) dx = \left[ x + \frac{L}{2} \log(x-L) - \frac{L}{2} \log(x+L) \right]_{\sqrt{a^2 + L^2}}^1$

$\frac{1}{x-L} - \frac{1}{x+L} = \frac{x+L - (x-L)}{(x-L)(x+L)} = \frac{2L}{x^2 - L^2} \neq \frac{L^2}{x^2 - L^2} = \frac{L}{2} \left(\frac{1}{x-L} - \frac{1}{x+L}\right)$

$= \sqrt{1+L^2} - \sqrt{a^2+L^2} + \frac{L}{2} \log(\sqrt{1+L^2} - L) - \frac{L}{2} \log(\sqrt{1+L^2} + L) - \frac{L}{2} \log(\sqrt{a^2+L^2} - L) + \frac{L}{2} \log(\sqrt{a^2+L^2} + L)$

(3)  $-\log(\sqrt{a^2+L^2} - L) + \log(\sqrt{a^2+L^2} + L) = \log \frac{\sqrt{a^2+L^2} + L}{\sqrt{a^2+L^2} - L} = \log \frac{(\sqrt{a^2+L^2} + L)^2}{(\sqrt{a^2+L^2} - L)(\sqrt{a^2+L^2} + L)} = \log \frac{(\sqrt{a^2+L^2} + L)^2}{a^2 + L^2 - L^2}$   
 $= 2 \log(\sqrt{a^2+L^2} + L) - 2 \log a \quad \neq 1$

$f(a) = \sqrt{1+L^2} - \sqrt{a^2+L^2} + \frac{L}{2} \log(\sqrt{1+L^2} - L) - \frac{L}{2} \log(\sqrt{1+L^2} + L) + L \log(\sqrt{a^2+L^2} + L) - L \log a$

$\lim_{a \rightarrow 0} \frac{f(a)}{\log a} = \lim_{a \rightarrow 0} \left\{ \frac{\sqrt{1+L^2} - \sqrt{a^2+L^2} + \frac{L}{2} \log(\sqrt{1+L^2} - L) - \frac{L}{2} \log(\sqrt{1+L^2} + L) + L \log(\sqrt{a^2+L^2} + L) - L}{\log a} \right\} = -L$